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kN (BE) {f kN (BE) tf
8 0.57 24 1 36.0 3.67 39.0 3.97 0.221
9 0.65 30.4 455 4.63 49.3 5.02 0.279
10 0.72 37.6 56.2 5.73 60.9 6.21 0.345
11.2 0.81 47 .2 70.5 7.18 76.4 7.79 0.432
12 0.87 54 .1 81.0 8.25 87.7 8.94 0.496
12.5 0.90 58.7 87.9 8.96 95.2 9.70 0.539
14 1.02 73.7 110 11.2 119 12.1 0.676
16 1.15 96.2 144 14.6 156 15.9 0.882
18 1.30 122 182 18.5 197 20.0 1.12
20 1.43 150 225 22.9 244 24.8 1.38
22 1.58 182 272 27.7 295 30.0 1.67
22.4 1.60 189 282 28.7 306 31.2 1.73
24 1.73 217 324 33.0 351 35.7 1.99
25 1.80 235 351 35.7 381 38.8 2.15
26 1.86 254 380 38.7 412 42.0 2.33
28 2.03 295 441 449 478 48.7 2.70
30 2.14 338 506 51.5 548 55.8 3.10
31.5 2.27 373 558 56.9 604 61.5 3.42
32 2.30 385 576 58.7 624 63.6 3.53
33.5 2.40 422 631 64.3 684 69.7 3.87
34 2.44 435 650 66.2 704 71.7 3.98
35.5 2.55 474 709 72.2 768 78.3 4.34
36 2.58 487 729 74.3 789 80.4 4.47
37.5 2.70 529 791 80.6 857 87.3 4.85
38 2.74 543 812 82.8 880 89.7 4.98
40 2.86 601 900 91.7 975 99.4 552
42.5 3.03 679 1,020 104 1,100 112 6.23
44 3.16 728 1,090 111 — — 6.67
45 3.25 761 1,140 116 — - 6.98




